## FIRST INFORMATION OF A CO CRIMINAL PROCEDURE CODE E STATION: CHURACHANDPUR

Sub-Division: Churachandpur

FIR No. 2819 (10)2023 CCP-PS u/s 120-B/ 143/378/379/380/445/34 IPC CORR TO FIR No. 1203(9)2023

PGCI-PS u/s 120-B/143/378/379/380/445/34 IPC

District: Churachandpur Date & hour of Occurrence 09/05/2023 at about 6:00 AM

Date and Hour	Place of Occurrence, Distance & Direction	Date of dispatch from
when reported	from Police Station	Police Station
27/10/2023 at 08:05 AM	Old Bazar near Churachandpur Police Station, Churachandpur. About 400 metres South	27/10/2023

NB: A First Information must be authenticated by the signature, mark of thumb impression informant an attested by the signature of the officer recording it.

Name & residence of informant/ complainant	Name & residence of accused person(s)	Brief description of offence with sections and of property carried off, if any	Steps taken regarding investigation, explanation of delay in recording information	Result of the case
Md. Abdul Noor, 37 years s/o Late. Md. Abdul Salam Kwakta Municipal Council Ward No. 6, PO- Moirang, PS- Phougakchao Ikhai Bishnupur District, Manipur # 8132935429  O.E. Overleaf	Some unknown miscreants	Punishment for criminal conspiracy, unlawful assembly, theft, punishment for thef, theft in dwelling house, house breaking with common intention  Punishable u/s 120-B/ 143/378/379/380/445/34 IPC	SI Letminlal Suantak of CCP-PS will please investigate the case	3
OC/CCPPS Officer-In-Incharge			tal wolvs	

Churachandpur Police Statio Manipur

Signed

: (N THANGZAMUAN ), Inspt.

Designation Date

: OC/CCP-PS : 27/10/2023

Officer-In-Incharge Churachandpur Police Statio Manipur

The Officer-in-Charge, Phougakehao Ikhai Police Station Bishnupur District, Manipur

Sub: - Report

Sir





I have the honour to state that received a reliable information on 09/05/2023 at about 7:00 am, on the same day at about 6:00 am (morning) my rental Godown mostly of electronic appliances located at Old Bazar near Churachandpur Police Station, Churachandpur District, Manipur own as a lend rental house and run as rental by namely Shri Gurumayum Krishno Sharma aged about 55 years S/o Shri Gurumayum Nandalal Sharma residence of Saiton Awang Leikai were looted by some unknown miscreants by breaking the Godown door shutter and carried away all the available electronic items/appliances which were kept inside my rental Godown. I immediately, went to Churachandpur at my rental Godown and after reaching there. I shown that all the available electronic items at the Godown were looted and taken away by some unknown miscreants taking the advartage of myself unavailable and amidst the unruly crupts of ethnic clashes between Meiteis and Kukis which was broken-out since from the 3<sup>rd</sup> May, 2023. I couldn't timely report to the nearest Police Station about the incident as I was not awa e properly about the report of the incident.

A separate sheet showing the particulars of the losses incurred by me is attached along with the present application.

In the above facts and circumstance, it is therefore respectfully requested that your goodself may cause the arrest of the unknown miscreants who involved looting the above cited electronic appliances and take appropriate necessary legal action against the unknown culprits accordingly to the law of the land. Refueld as an O.E. G. case

"With regards"

Yours's faithfully'

143/378/379/380/445/34 [PC

FIR NO 2819 (10) 2023 CCP-PS 4/5

Md. Abdul Noor.

Officer-In-Indhauger Churachandput Police St Manipot

(MD. ABDUL NOOR, 37 YRS)

S/o Late Md. Abdul Salam Kwakta Municipal Council Ward No. 6 PO-Moirang, PS- Phougakchao Ikhai Bishuupur District, Manipur # 8132935479

Unted: 27/09/23 This support in Executed as on OE of Case FIR NO. 1203 (9)2023 PGC1-PS US-12013/45/378/379/3801445/341Pe

Place: Kwakta

Officer-in-Charge
Phougakchao (khai Police Station

1-17 1-18 Brief description of the items looted in the saidful incidence were as given below:

ŠI. No.	List of items loss	<ul> <li>Quantity</li> </ul>	Approx, worth value in Rugees
1	Washing Machine (7 Kgs)	06 Nos.	6*13,000=Rs. 78,000/-
2	Washing Machine (7.5 Kgs)	08 Nos.	8*13,500=Rs. 1,08,000/-
3	Washing Machine (8 Kgs)	05 Nos.	5*14,500=Rs. 72,500/-
4	Washing Machine (9.5 Kgs)	05 Nos.	5*17,500=Rs. 87,500/-
5	Washing Machine (11.5 Kgs)	04 Nos.	4*20,500=Rs. 82,000/-
6	Samsung Refrigerator (4 Star)	06 Nos.	6*21,000=Rs. 1,26,000/-
7	Samsung Refrigerator (3 Star)	05 Nos.	5*20,000 =Rs. 1,00,00/-
8	Samsung Refrigerator (2 Star)	07 Nos.	7*18,500=Rs.1,29,500/-
9	Samsung Refrigerator Double door (3 Star)	04 Nos.	4*27,000=Rs.1,08,000/-
10	Sailing(roof) Fan	25 Nos.	25*1900=Rs. 47,500/-
11	Stand Fan	20 Nos.	20*3100=Rs. 62,000/-
12	6 mm Electric Coil	20 Nos.	20*600=Rs. 12,000/-
13	4 mm Electric Coil	15 Nos.	15*500=Rs. 7,500/-
14	2.5 mm Electric Coil	45 Nos.	45*400=Rs. 18,000/-
15	1.5 mm Electric Coil	25 Nos.	25*300=Rs. 7,500/-

G/Total = 10,044,500/- (rupees ten lakhs and forty-four thousand and five hundreds only)

Yours's faithfully'

Place: Kwakta Dated:

Md. Abdul Noor.

(MD. ABDUL NOOR, 37 YRS)

S/o Late Md. Abdul Salam Kwakta Municipal Council Ward No. 6 PO-Moirang, PS- Phougakchao Ikhai Bishnupur District, Manipur #8132935439

Page.

## FIRE INFORMATION REPORT FIRST INFORMATION OF A COUNTY BLE CREW REPORT UNDER SECTION 154 CRIMINAL PROSEDURE CODE AT POLICE STATION

Sub-Division- Moirang

District- Bishnupur

FIR No. 1203 (9)2023 PGCI-PS, U/S- 120B/143/378/379/380/445//34 IPC.

Date & Hours of occurrence-On 09/05/2023 @ 6:00 am

Date &hour when report	Place of occurence &direction from Police Station	Date of dispatch from Police Station
On 27/09/2023 at 8:15 pm	At Old Bazar, Near Churachandpur Police station 13.5 km. South from PS.	27/09/2023

N.B. A first information must be authenticated by the signature, mark of thumb impression of informant of information and attested by the signature of the officer recording it.

Name & residence of informant/ complt	Name &residence of accused	Brief description of offence with section &of property carried off, if any	Steps taken regarding investigation, explanation of delay in recording information.	Ren
Md Abdul Noor,37YRS S/O (L)Md . Abdul Salam of kwakta municipal council ward No .6 .	Some Unknown Miscreants.	Punishment of criminal conspiracy, Punishment of unlawful assembly,theft, Punishment for theft,theft in dwelling househouse breeaking, Common intention and Arms Act.	CCP-PS as the PO fall under the jurisdiction of	
		Punishable		
OE/attached.		U/S- 120B/143/378/379/380/445//34 IPC.		
OC/PGCI-PS Ot. 27/09/2023				
fficer-in-Charge chao Ikhai Police Stat upur District, Manipui	ion			

Signed

Date

Inspt. Subhaschandra Konthoujam

Designation: OC/PGCI-PS

27/09/2023 in-Charge

Phougakchao Ikhai Police Station anaur Ristrict, Maniput